PHYS 101: General Physics 1 KOC UNIVERSITY Fall Semester 2011
College of Sciences
Section 1 Quiz 9 1 December 2011

Closed book. No calculators are to be used for this quiz.
Quiz duration: 15 minutes

Name: Student ID: Signature:

Find the moment of inertia of a uniform circular disk, of mass M and radius R, about
an axis perpendicular to the disk at its edge, at distance R from the center of the disk.
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A disk of mass M and radius R is rotating about a central perpendicular axis. Its initial
angular velocity g is doubled after a time 1. Assuming constant acceleration
determine the angle through which the disk rotates in .
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How much average power is dissipated when a wheel of radius R and mass M is
brought to rest in N revolutions, with a constant angular acceleration, from an angular
initial velocity @?
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Find the moment of inertia of a thin rectangular uniform sheet of metal, of mass M,
length L and width w, about the axis shown in the figure.
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A rod of mass M and length L connects two small masses m. Find the moment of

inertia of the composite system about an axis through the center, perpendicular to the
rod.

m [~ g m Sorcbl, pamE T 2
: y 0 !T:' e rhnsl,s m = I= (’5:)
il :Z
()] {
2
Tl = f 2% dm
—Uq
_ dm _— dm = B_dx
(== 2 L
th r He 3 3 L2
3 s -5_)}: M
2 M R L] = L2 =
Lrocl = J * de il [3 o f v L 8 ( 3 12
Stk
check  from Table 9,2, case (o)
t MLt = FALLE
Lot = Lol v+ LTawr = _.’“li.‘:. + 2 e =




